Breakout Bar system
Summary

I need an EA to automate this trading strategy. Essentially it’s a breakout of the previous bar which could be 15m,30m, 60m or 240m.

Long Entry

The current bar opens and breaks the low of the previous bar. The bar then reverses up and you go long when the current bar hits the close price of the previous bar.

What determines an long entry..when the low of the previous bar is taken out first.

A short entry is when the high of the previous bar is taken out first.

SL is the low of the previous bar OR value
TP is defined by value

Short Entry

The reverse of the long.
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EA Parameters
Timeframe
-
15min, 60min etc for the bar

TP

-
value

SL

-
Low of previous bar or value

Magic No.

Thanks

Trevor De Vries aka DAET

1. Bar breaks the low of the previous bar





2. Then moves back up thru the open, we go long here








